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Use lattice multiplication to solve each problem.
1)

83 × 67 =

8 3

6

7

4 1

5 2

6 1

8 8

6

5

5 1

2)
42 × 67 =

4 2

6

7

2 1

2 1

1 4

4 2

8

2

8 4

3)
11 × 98 =

1 1

9

8

0 0

0 0

7 8

9 9

8

1

0 8

4)
84 × 83 =

8 4

8

3

6 3

2 1

7 2

4 2

4

6

9 2

5)
68 × 60 =

6 8

6

0

3 4

0 0

8 0

6 8

0

4

0 0

6)
29 × 75 =

2 9

7

5

1 6

1 4

7 5

4 3

0

2

1 5

7)
42 × 44 =

4 2

4

4

1 0

1 0

4 8

6 8

6

1

8 8

8)
77 × 80 =

7 7

8

0

5 5

0 0

6 0

6 6

0

6

1 0

9)
40 × 77 =

4 0

7

7

2 0

2 0

8 0

8 0

8

3

0 0

10)
33 × 64 =

3 3

6

4

1 1

1 1

1 2

8 8

2

2

1 2

11)
45 × 94 =

4 5

9

4

3 4

1 2

3 0

6 5

6

4

2 0

12)
42 × 60 =

4 2

6

0

2 1

0 0

2 0

4 2

0

2

5 0

Answers

1. 5,561

2. 2,814

3. 1,078

4. 6,972

5. 4,080

6. 2,175

7. 1,848

8. 6,160

9. 3,080

10. 2,112

11. 4,230

12. 2,520

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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Use lattice multiplication to solve each problem.
1)

83 × 67 =
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42 × 67 =
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11 × 98 =
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84 × 83 =
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68 × 60 =
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6
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6)
29 × 75 =

2 9
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42 × 44 =

4 2

4
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40 × 77 =

4 0

7
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2 0
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0 0
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33 × 64 =

3 3

6

4

1 1

1 1

1 2

8 8

2

2
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11)
45 × 94 =

4 5

9

4

3 4

1 2

3 0

6 5

6

4

2 0

12)
42 × 60 =

4 2

6

0

2 1

0 0

2 0

4 2

0

2

5 0

Answers

1. 5,561

2. 2,814

3. 1,078

4. 6,972

5. 4,080

6. 2,175

7. 1,848

8. 6,160

9. 3,080

10. 2,112

11. 4,230

12. 2,520

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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